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Number Scheme Marks
6
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dx dy =
a —=3, —=6t
@ dt dt
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Question

Number Scheme Marks
2 {(2+ kx)®* =27 (1 + st = l[l + (—3)(Qj L3963 (QJZ + J} k>0
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(a) {A = } % B1 cao
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8 2! 2
M1 o.e.
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Question

Number Scheme Marks
x |0 0.2 0.4 0.6 0.8 1
3.
y |2 1.8625426... | 1.71830 | 1.56981 | 1.41994 | 1.27165
(a) {At x=0.2,} y = 1.86254 (5 dp) Bl cao
[1]
1 Blo.e.
(b) E(0.2)[2+1.27165+ 2(their 1.86254 +1.71830 + 156981 + 1.41994) |
M1
{: %(16.41283) } =1.641283 =1.6413 (4 dp) Al
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(c) {u:eX or x:lnu:>}
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Question

Number Scheme Marks
4. 2 3 y _
4x° —y'—4xy + 2’ =0
@ % dy dy dy
S 8 =8y == —4y —4x—= +2'In2-==0 _
8(-2) - 3(4)2ﬂ — 4(4) - 4(—2)0'—y w242 - 0 dm1
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Question

Number Scheme Marks
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Question

Number Scheme Marks
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Question

Number Scheme Marks
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Question

Number Scheme Marks
9.(a) R =29 B1
tana = % = o =awrt 0.381 M1A1l
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Question

Number Scheme Marks
10.(a) | AtP Xx=—2=y=3 B1
dy 4 3
- = - M1, Al
dx 2x+5 2
dy —§:> Equation of normal is —'3'——g(x—(—2)) M1
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3X
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)
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Question

Number Scheme Marks
11.(a)(i) ©,3) shape on x - axis or coordinates(%a‘oj and (0,a) | g1
Correct shape, position and coordinates | B1
ol X
)
ﬁk
(i) & Their "V" shape translated up or (0,a+b) | B1ft
(0,a+b)
Correct shape, position and (0,a+Db) Bl
> (4)
@) X
(b) States or uses a+b =8 Bl
Attempts to solve [2x—a|+b = g X +8 in either x or with x = ¢
3
20—a+b:§c+8:>kc:f(a,b) M1
Combines kc =f(a,b)with a+b=8 —=c=4a dM1 Al
(4)

(8 marks)




Question

Number Scheme Marks
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